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mode ~ hire + psize Baseline : 4- air

✗ ,
= household income ( Nooo)

Hed model : Xz = party size

log = ( Sso -0.0609 Xp + 0.2907×2]
exp

log ( = 1.034 -0.0339 X
, -0.3397×2

log ( ¥£a ) = -0.944 - 0.0035471
,
+0.6006 Xz

What about estimated continual odds of train travel

vs. Car travel ?
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1- (0.2907-0.6006)×2

= 2.49 -0.058×1 - 0.31×2



Visualizing - plot of probabilities
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Linear combinations of coefs .
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increase in hiÉpÉ since 2
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Interpret :
-7.4% -2.7%

We are 95% confident that the true change in
relative ask rahu of travel by train to air for a

$1000 increase in household income is between

a 2.7% to 7.4% decrease
, among parties

of

sire two .

✓ '¥A
We are 95h confident that the relative risk
ratio of travel by train to air 1
the conditional odds oh travel by train compared
to air

decreases by between 2.72 to 7.4% for each

$1000 increase in.

household income when the

party size is 2 individuals .



Sectional - Cumulative Login Models
for ordinal response
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A- cumulative probability is the probability of falling
at or below a particular category :
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